Universal Product Code
= HARTH, Winter MW

Each clue has two parts. The first part is a number
equal to the product of the numerical values of its
letters (A =1, B =2, etc. For example, the word
CODE would yield 3 x 15 x4 x 5 =900.) The
second part is a hint using some kind of word

play.

Across

1.
6.
7.
8.

10.
11.

744,323,580: No flavoring for sloe gin.
2,653,560: I am in a cod. (Two words.)
126: Stirred with a tub, yields a vegetable.
9450: Beef, lamb, or ham are probably not
on his shopping list.

128,701,440: No bananas.

133,380,000: Separate spirits from meat.

Down

1.
2.
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172,730,880: Origin of beef, lamb, or ham.
653,360,904: For those who don’t like
canned juice, a better choice...

53,130: Cayenne --ouch!

1,500,282,000: Got coin in change.
1,819,440,000: Like bee lam. Ha!

24.,700: Strawberry, etc., going up.
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